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0-B 35T ("C) for identifier 21938
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0-B 35T ("C) for identifier 31733
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0-B 35T (*C) for identifier 44503
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0-B 35T ("C) for identifier 44622
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0-B 35T ("C) for identifier 46634
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0-B 35T ("C) for identifier 53964
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0-B 35T ("C) for identifier 56528
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0-B 35T ("C) for identifier 63941
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0-B 35T ("C) for identifier 65581
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0-B SST (°C) for identifier 9HJBS

=995

=618 HNumber of outliers

Mumber of obs. plotted

£
G

- BOME0SE

- BYE0E L

- BOMA0NL L

- BOME0FD

- BYS0YEC

- BOVSOYLE

- BYS0AF L

- BOSS0SA0

- BOFOVOE

- BVFLVED

- BOFOYS L

- B FOYEN

- BOSFOYCO

- BOVEDYEC

- BVEDVE L

- BOVEDVE L

- BVELYS0

- BOAZOAC

- bOCOvE L

- BVELVC L

- BOACOYS0

- B0 L OYeD

- B0 LOVEC

e

- B0 LOYE0

20

15

O

1

O

(Do) 155 9-0

-10

-15

A0 LOSLO

=
o

Time




0-B 35T ("C) for identifier SKKS
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0-B 35T (*C) for identifier 9W¥AH
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0-B 35T ("C) for identifier SVENS
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0-B SST (°C) for identifier ABHF6E
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0-B 35T ("C) for identifier ABIXS
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0-B 35T ("C) for identifier DAJL
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0-B 35T ("C) for identifier DEAL
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0-B 35T ("C) for identifier DGTX
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0-B 35T (°C) for identifier DIBZ
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0-B 35T ("C) for identifier KHRC
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0-B 35T (°C) for identifier KS034
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0-B 35T (°C) for identifier KS063
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0-B 35T ("C) for identifier KS066

=2

=43 Number of outliers

Mumber of obs. plotted

T

sy ¢
&0

£

gy

- BOME0SE

- BYE0E L

- BOMA0NL L

- BOME0FD

- BYS0YEC

- BOVSOYLE

- BYS0AF L

- BOSS0SA0

- BOFOVOE

- BVFLVED

- BOFOYS L

- B FOYEN

- BOSFOYCO

- BOVEDYEC

- BVEDVE L

- BOVEDVE L

- BVELYS0

- BOAZOAC

- bOCOvE L

- BVELVC L

- BOACOYS0

- B0 L OYeD

- B0 LOVEC

e

- B0 LOYE0

10

O

(Do) 155 9-0

A0 LOSLO

-
—
1

Time




0-B 35T (°C) for identifier KS067
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0-B 35T (°C) for identifier KS078
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0-B 35T (°C) for identifier KS080
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0-B 35T (°C) for identifier KS087
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0-B 35T (°C) for identifier KS089
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0-B 35T (*C) for identifier MGSM3
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0-B 35T ("C) for identifier ONAN

Mumber of obs. plotted =157 MNumber of outliers
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0-B 35T (*C) for identifier PDUJ
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0-B 35T ("C) for identifier SFRZ

Mumber of obs. plotted =157 MNumber of outliers
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0-B 35T ("C) for identifier SGBA
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0-B 35T (*C) for identifier UC.JL

Mumber of obs. plotted =105 MNumber of outliers

=0

£

- BOME0SE

- BYE0E L

- BOMA0NL L

- BOME0FD

- BYS0YEC

- BOVSOYLE

- BYS0AF L

- BOSS0SA0

- BOFOVOE

- BVFLVED

- BOFOYS L

- B FOYEN

- BOSFOYCO

- BOVEDYEC

- BVEDVE L

- BOVEDVE L

- BVELYS0

- BOAZOAC

- bOCOvE L

- BVELVC L

- BOACOYS0

- B0 L OYeD

- B0 LOVEC

e

- B0 LOYE0

10

O

(Do) 155 9-0

A0 LOSLO

-
—
1

Time




0-B 35T ("C) for identifier UHWZ
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0-B 35T ("C) for identifier V2ZLAS
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0-B 35T (*C) for identifier V7DI7
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0-B 35T ("C) for identifier VRWE7
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0-B 35T ("C) for identifier VRXK9
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0-B 35T ("C) for identifier WAAH
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0-B 35T ("C) for identifier WZZF
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0-B 35T ("C) for identifier ZDGRS
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